ITI Surveyor 1st year Moudle 2 Basic Engineering Drawing

(1). What is the name of thin continuous line terminated at ends by arrow heads,
dots or oblique line touching the extension line? | @%EF SUIE\H BINGEEINNIES
GRT THICRM AT DI B IR JHTW 814 aTet Uil FRaR ST &1 &1 19 872

(A) Leader line | Fﬂ?ﬂ?ﬂ%tf

(B) Extension line | SRR TS
(C) Dimension line | faHie ¥aT
(D) Termination line | ET&Iﬁ'Q'F[aIs:I

Correct Answer : C

(2). What is the inclination of oblique strokes in dimensioning in termination and
origin indication? | TG 3R Yol Habd | faHie H foRes Wi o1 b1a A1

87

(A) 25°

(B) 35°
(C) 45°
(D) 55°

Correct Answer : C

(3). What is the equation for required length of scale? | ﬁnﬁﬁ AR D Q'1'®II$r

& forg gefierur R @2

RF

Length to be measured

(A)



Length to be measured
RF

(B)
(C) RF x length to be measured
(D) RF x length of scale required

Correct Answer : C

(4). What is the size of trimmed A4 sheet as per IS : 10811 - 19837 | \’rl'l_{'Qﬂ:

10811 - 1983 & TR G-l A 4 XTc BT THR FT 62
(A) 420 x 594 mm
(B) 297 x 420 mm
(C) 210x 297 mm
(D) 148 x 210 mm

Correct Answer : C

(5). Which method of surveying the area is sub divided into network of triangles?

| &5 & TA&TT B B At [afY IU-ApI0 & Aead o fauiford g2
(A) Levelling | TafeiT

(B) Traversingléf"'fsiro

(C) Plane tabling | Wi ¢aIeiT

(D) Triangulation | FABIOIT®HT

Correct Answer : D



(6). What is the name for classification of letters having the elementry strokes of

even width? | -1 YSTTSff aTct Y &7 A1 daTs H SR € SR -1 =M
STt SEE B2

(A) Text | CRT

(B) Italic | 3cfdid
(C) Gothic | MAH
(D) Roman | JHT

Correct Answer : C

(7). Which is the survey, if the surface of the earth is assumed as plane? | dg

&0 I AT g, afG G2t Bt dg ! [aH I ST g2
(A) Aerial survey | BaT8 TA&0T

(B) Plane survey | faaT= Td&for

(C) Geodetic survey | YT Tdefor

(D) Astronomical survey | ST TI&JOT

Correct Answer : B

(8). What is the name of space enclosed by the margin from the edges of the

trimmed size of sheet? | TME P Bl MHR & fHARI A AR gRT AU R
FTAH AT ?

(A) Border | ST&X

(B) Layout | & T3¢

(C) Boundary | HHHT

(D) Folding mark | IS HIDH

Correct Answer : A



(9). What is the angle that inclined letters are drawn towards right? | a_s'mﬁﬁ

T AT HERT 1 a7 SR e S, 32
(A) 5°
(B) 10°
(C) 15°
(D) 20°

Correct Answer : C

(10). Calculate sum of exterior angles in a hexagon? | Wﬂﬁﬁmmﬁ
MU B2

(A) 900°

(B) 1080°

(C) 1260°

(D) 360°

Correct Answer : D

(11). Which lines are used to indicate arcs of symmertical objects featrures? |

Rpufewa sifsciacy & GaTd &1 3RTd B & ATl DIF It X137 BT ITaNT
foraT STaT 82

(A) Hidden lines | o5t} g% YTy
(B) Centre lines | Wﬁw
(C) Straight lines | ¢l XY

(D) Oblique lines | TR Y@M

Correct Answer : B




(12). Name the quadrilateral if opposite sides are equal and parallel and all four
angles are right angles? | Y &1 TH FAT3T ARG famRid Yo A 3R THH
gl 3R IR 10T THBI B2

(A) Square | aif

(B) Rectangle | 3{dd

(C) Rhombus | f[aud®I0T

(D) Rhomboid | JBIHIES

Correct Answer : B

(13). What is the Indian standard code for drawing boards designated? | S\Ig‘l

S & folT YR AFS Bis AT 8?

(A) 1S:1360- 1989

(B) IS : 1444 - 1989
(C) 1S:10811-1983
(D) 1S:10711 - 1983

Correct Answer : B



(14). What is the name of B AOC and DCOB that is laying either side of line OC ? |

“pAOC 3R DCOB T TH T g Sl fob g oc & fohelt Th 3R &

A a

0 B

(A) Reflex angles | ReascEall

(B) Straight angle | T o

(C) Adjacent angle | 3T HI0T

(D) Complementary angle | WW

Correct Answer : C

(15). What term is given to the graphical representation of the features on the
earth surface as projected on a horizontal plane in surveying? | “v'la:&‘l'UTﬁW

afas I W yafid gt & Idg W gfaursit & foemg ufaffia o) a1 s
[CRIRIRINE

(A) Plan | ol
(B) Graph | 9Tt
(C) Profile | UTWTSA
(D) Section | YR

Correct Answer : A



(16). What is the sum of included angles in a triangle? | ﬁﬁﬁfﬁqﬁiﬁ‘lﬁmﬁ
AT T §?

(A) 90°

(B) 180°
(C) 270°
(D) 360°

Correct Answer : B

(17). What is the name of D POQ and PQOR, if sum of BPOQ + DQOR =90° and
laying either side of a line 0Q? | “PPOQ 3R PQOR WWW%U@W@"T
PPOQ +DQOR = 90° B TYUT SN fob @13 oc & fhrdll T 3R 3

p

0O

(A) Obtuse angles | WW

(B) Adjacent angles | 3T HI0T

(C) Supplementary angles | 3D BT
(D) Complementary angles | WW

Correct Answer : D



(18). What is the first element of in RF represents? | RF & Ugdl dcd HIT EQIiﬂl

87

(A) Size of scale | UM BT TR

(B) Size in drawing | STSTTH 3R

(C) Size of the object | ¥ P PIX

(D) Size of object and drawing | 3iTeolae 3R TR BT THR

Correct Answer : B

(19). What is the name of line perpendicular to horizontal lines? | aﬁﬂw\”h$
oY e a1 &1 =TH F1 82

(A) Vertical line | 3 &aTeR @l
(B) Straight line | el 3T

(C) Parallel line | FHHIAR 3@T
(D) Horizontal line | &faeT ¥&T

Correct Answer : A

(20). Which survey deals the objects under the water? | ﬁWﬁWﬁ%
T g FT g RaT 87

(A) Land survey | Yf¥ A&l

(B) Aerial survey | §ATS TA&UI

(C) Marine survey | T} TA&fOT

(D) Astronomical survey | GG TA&UT

Correct Answer : C



(21). What is the name for part of circle, between any two points on the

circumference or periphery? | WZITWWW@%@&$@? ﬁ%
YT 1 19 1§72

(A) Arc | 31T

(B) Chord | SitdT

(C) Sector | YeeR
(D) Segment | ¥THC

Correct Answer : B

(22). What is the name of angle more than 180°? | 180° T 3{[Yh HIUT BT AH ]

82

(A) Reflex angles | ReascEall

(B) Straight angle | LRI

(C) Adjacent angle | 3T HI0T

(D) Complementary angle | WW

Correct Answer : A

(23). What is the least count of vernier scale (One MSD=3mm, number of equal
parts in MSD=10)? | IR &b d (1 MsD = 3 fiHt, Msp = 10 & AT T &t
TR ! G HH T- 152

(A) 0.3 mm
(B) 0.03 mm
(C) 0.003 mm
(D) 0.0003 mm

Correct Answer : A



(24). What is the name of view represented? | EIE’%GC‘LW:IWW%?

(A) Multi view | 9§ T0

(B) Isometric view | THHA o
(C) Oblique view | lfsTag g
(D) Perspective view | TRU&T €1

Correct Answer : C

(25). What survey deals in unearthing the relics of the part? | HIT & (AR Bl

Tl @A H &9 J Tdeur 9 afid g2
(A) Mine survey | ATS- a&foT

(B) Military survey | =g Ja&fuT

(C) Geological survey | {FTHfa gdermr
(D) Archeological survey | QRTdd TA&UT

Correct Answer : D



(26). How many sides and angles are in quadrilateral? | aﬂﬂﬁfﬁmﬁ Yol 3R
HIUBId &2

(A) 3sidesand 3 angles | 3 HuIl 3R 3 I
(B) 4 sidesand 4 angles | 4 HTrlTG?IT4ﬁ'UT
(C) 5sidesand 5 angles | 5 YuIl 3R 5 I
(D) 6sidesand 6 angles | 6 HTTIT3'?|T6W

Correct Answer : B

(27). What is the name of side opposite to right angle in a triangle? | ﬁﬁ\_ﬂﬁ

TP & fAUd YT &7 719 R 82
(A) Base | YRR

(B) Hypotenuse | HUf

(C) Adjacent side | ST &1 [dH-RI
(D) Opposite side | fauRId fe=m

Correct Answer : B

(28). Which survey deals with the collection of the details of cyclonic affected
area, flooded area etc, is done by aeroplane in air? | Tehalal gHTfad 833[ dleUd
&7 31fe & faRur & Tirg A Tefd I I1 Gd&rur gdTs SigTsl gRT g1 | fbar
KIGIE

(A) Land survey | Yf¥ Gaefor

(B) Aerial survey | BaTs Ja&fuT

(C) Marine survey | THS! GJ&f0T

(D) Astronomical survey | BTG qA&fOT

Correct Answer : B



(29). Which term is used for representing surface of the earth on a small scale in

surveying? | A& H BIC UHM WR G2d &1 Tdg BT U9 B & foTg forg
eq BT IUANT {1 STl &2

(A) Map | AR
(B) Graph | 9Tt
(C) Profile | Upred
(D) Section | TR

Correct Answer : A

(30). Which survey deals with the star’s in the sky? | ¥R SHTHHI 7 forg gdemr

T Teiferd g2

(A) Land survey | Yf¥ qaefor

(B) Aerial survey | BaTs Ja&fuT

(C) Marine survey | THS! GJ&0T

(D) Astronomical survey | ST TI&IOT

Correct Answer : D

(31). What is the sum of interior angles in a quadrilateral? | aﬂﬂﬁfﬁ IGIEGY
DIV HT AT R 5?

(A) 90°
(B) 180°
(C) 270°
(D) 360°

Correct Answer : D



(32). What is the formula for calculating sum of interior angles in a polygon? |

JgYST H 31T HIUM o TN &1 TUMT R BT G 1 82
(A) (n-1)90
(B) (n+1)90
(C) (2n +4) 90
(D) (2n—4)90

Correct Answer : D

(33). How many links are available in a 30 M metric chain? | 30 M Iﬂ% %Fﬂf[
fra fiep Sueie 87

(A) 20 Nos.

(B) 30 Nos.

(C) 100 Nos.

(D) 150 Nos.

Correct Answer : D

(34). Which solid has eight equilateral triangular faces? | fegoad 3116 JHdIg
ECANIR RS

(A) Cube | TFI&

(B) Tetrahedron | é@%@ﬁq
(C) Octahedron | %%@7[
(D) Polyhedron | uﬁz«ﬂ%@q

Correct Answer : C



(35). What is the name for part of circle with radii making 90° with each other? |

TP g% & TIY 90° T 9 aTe Tehdl o [ T -TH &1 62
(A) Chord | SfidT

(B) Sector | ¥arcR

(C) Segment | YTTHS

(D) Quadrant | EARET

Correct Answer : D

(36). Which of the land survey deals with the plotting of additional details of

boundary field and houses? | T e 3R Wi & Sffafed faaron ot aifore ==
3 Yaifera Yy Tdem A A B a1 e?

(A) City survey | G BT JA&fuT
(B) Mine survey | TS Td&fur
(C) Cadastral survey | mﬁﬁw

(D) Topographical survey | Wﬁ&m

Correct Answer : C

(37). What colour is used for barren land in the drawing? | §I$‘I T §oRR '{&[%

T fory 1 1 ST T Tl &2
(A) Burntamber | ST 31T SRR
(B) Burnt sienna | 78X SIS 1 I
(C) Crimson Lake | Tha g Siiad

(D) Prussian blue | Y sf

Correct Answer : A



(38). What is the name of quadrilateral with four sides are equal and four angles

are right angle? | IR YoTT37l aTel A &1 T &1 § oI IRI 10T THe 0T
87

(A) Square | aif

(B) Rectangle | 3{dd

(C) Trapezoid | aﬂﬂﬁf

(D) Rhombus | IGLECAL]

Correct Answer : A

(39). Which survey account for the curvature of earth? | q&ﬂ%ﬁaw%ﬁﬁmﬁq
T A& G 5?2

(A) Arial survey | TRTA Id

(B) Plane survey | &I A&l

(C) Geodetic survey | YT+ Tderor

(D) Astronomical survey | ST TI&IOT

Correct Answer : C

(40). Calculate the sum of the interior angles in a pentagon? | PECAEREIRIRGY

DI &b YR b1 TTUMT HIfTT?
(A) 360°
(B) 450°
(C) 540°
(D) 630°

Correct Answer : C



(41). What is the name of scale that is a graphical device to compare or convert
one variable into another? | 3 UHT &I T &1 § Sl U TR I gOx A qa-1 a1
gRafdd s & ol T Afthehd [Sagy 82

(A) Plain scale | 9T&T YA

(B) Vernier scale | GaR UHMI

(C) Diagonal scale | fd@ 0l UHMT

(D) Comparative scale | @I YHTT

Correct Answer : D

(42). What is the name of triangle with three sides are equal and three angles are

equal? | IS &1 1 a1 § Fors o Yo W € SiR 9 Sior gae 82
(A) Scalene triangle | ﬁwrg'ﬁﬁw

(B) Isosceles triangle | W@_@EW
(C) Equilateral triangle | WWW
(D) Right angled triangle | W'UTEHTTT

Correct Answer : C

(43). What is the minimum width of border on left side of A2, A3, A4, & A5
drawing sheet? | A2, A3, A4, 3R A5 ST 2fie & §18 3R WHI &1 FAdH dIsTs
R G?

(A) 8 mm
(B) 12 mm
(C) 10 mm
(D) 14 mm



Correct Answer : C

(44). What is the name of straight line that is neither horizontal nor vertical? |

el X@T T A 1 g S A <1 &fdeT § 3R A 8 @idad g?
(A) Curved line | gHTAGR 4T

(B) Parallel line | THHIAR 34T

(C) Inclined line | b1 g3 ¥

(D) Perpendicular line | TFIad 3T

Correct Answer : C

(45). What is the name of polygon? | EEHGTW:IWERTIT%?

(A) Octagon | 3FHIUI
(B) Hexagon | NCHIUI
(C) Nonagon | THRTH
(D) Heptagon | BETIH

Correct Answer : D



(46). Calculate the actual size of component in metres(m), if the size of a
component in the drawing is 15 mm and RF = 0.0075. | e (m) Agch &
JRAA® HR BI TUHET B3, TG S H Th U BT HR 15 BT 3R

3RUK = 0.0075 g
(A) 2m

(B) 20m
(C) 200 m
(D) 2000 m

Correct Answer : A

(47). What is the formula for least count of vernier scale? | W@Wﬁ
eI & o G 1 52

1xMSD
(A) "
(B)
(C) (2n-1)d
in-11M3D
(D) .

Correct Answer : B



(48). What is the name of arrangement of dimensioning? | STIHTM B Ia=IT
BT TH T g2

(A) Chain dimensioning | %IT-T?:'I@T-I'QT[%FT

(B) Parallel dimensioning | Wgﬁﬂ'ﬂﬁﬁ

(C) Dimensioning by co ordinates | ﬁ%mm IR farie-

(D) Dimensioning from common feature | Wﬁﬁ%ﬂﬁﬁw

Correct Answer : B

(49). What is the name of triangle with all the three sides are unequal in length
and all the three included angle are also unequal? | ﬁHﬁWWW%mﬁFﬂq
YSIT HM § 3R i P10 G 82

(A) Scalene triangle | ﬁwrg'ﬁﬁw

(B) Isosceles triangle | W@E@W
(C) Equilateral triangle | Wﬁjﬁfﬁw



(D) Obtuse angle triangle | Gﬁ@ﬁmﬁﬁﬁ

Correct Answer : A

(50). What is the name of part labelled as ‘X’? | 'X’ %Wﬁ@ﬂﬂmw YT hT
THRE?

(A) Blade | &S

(B) Stock | &I

(C) Working edge | afhiT Tal
(D) Ebony edge | IS TSI

Correct Answer : A



